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Instructions for Students ( BTN o forw fder)

Students are required to read the instructions carefully before starting solving the

question paper.
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PART - A (9 - 37)

Do not open the question booklet until
you are asked to do so.

There are 50 Multiple Choice Questions
MCQ) in the question booklet. All 50
questions are mandatory to solve.

Each question carries 0.80 mark for
Regular student.

There are four options for each questions.
Fill the correct option in the OMR sheet.
Student have to darken only one circle
(bubble) indicating the correct answer on
the OMR Sheet. The circles on the OMR
are to be darkened properly with black/
blue ball pen only.

Fill in all the information (i.e. Roll No.
etc.) or both OMR sheet and question
booklet before starting the question
paper.

Submit OMR to the invigilator after
completion of examination.

Student can leave examination hall only
after completion of examination.
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Which Operating
support network working between

System doesn’t

computers?

(a) Windows 3.1
(b) Windows 95
(¢) Windows 2000
(d) Windows NT

Which Operating System support
networking between computers?

(a) Windows 3.1
(b) Windows 95
(¢) Widows 2000
(d) both (b) and (c)

Which of the following does not
support more than one program at a
time?

(a) DOS

(b) Linux

(¢) Windows

(d) Unix

Which of the following is not an
operating system?

(a) DOS

(b) Linux

(c) Windows
(d) Oracle
Linux is an operating system :
(a) Open source

(b) Microsoft

(c) Windows

(d) Mac
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(a) foe= 3.1
(b) foer=t 95
(c) f&=r=1 2000
(d) fee=t NT
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(a) foe= 3.1

(b) fae= 95

(c) f&== 2000
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(a) DOS

(b) Linux

(c) Windows

(d) Unix
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(a) DOS

(b) Linux

(c) Windows

(d) Oracle
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6.

Which operating system can you give
the smallest file name?

(a) Ps/2

(b) DOS

(¢) Windows

(d) Windows NT

Which one
system?

(a) P11

(b) OS/2

(c) Windows
(d) Unix

1s not an operating

Which of the following is not a
multitasking operating system?

(a) Windows

(b) Linux

(c) WinNT

(d) DOS

You should choose the Sleep option
when :

(a) The
working for the whole day

computer 1s tired after

(b) You are leaving for a very short
time and want to resume your
work shortly

(c) When the computer gets hanged
frequently. Let it sleep for
sometime

(d) You finish working and going to

bed
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(a) Ps/2

(b) DOS

(c) Windows

(d) Windows NT
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(a) P11

(b) OS/2

(c) Windows

(d) Unix
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(a) Windows

(b) Linux

(c) WinNT

(d) DOS
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10.

11.

12.

13.

14.

The displays the name of every
computer user on the computer :

(a) Wish list screen

(b) Command screen

(c) Welcome screen

(d) None of the above

most

The category of software

appropriate for controlling the design
and layout of a complex document
like newsletters and brochure is :

(a) Word processing

(b) Computer-aided design
(c) Web page authoring
(d) Desktop publishing

Which one is not a system tool?
(a) Backup

(b) Disk defragment

(c) Virus scanning

(d) All of the above

The memory which all locates space
for DOS and application is called :

(a) Expanded memory
(b) Cache memory
(c) Virtual memory

(d) Conventional memory

The operating system creates
from the physical computer :

(a) Virtual space
(b) Virtual computer
(c) Virtual device
(d) None of these
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15.

16.

17.

18.

19.

In windows, start button 1s used to :
(a) Run applications

(b) Turn off the system

(c) Device setting

(d) All of above

Which menu bars selection would you

access to open a file?
(a) Option

(b) Help

(c) View

(d) None of above

Which mode loads minimal set of

drivers when starting Windows?
(a) Safe Mode

(b) Normal Mode

(¢c) VGA Mode

(d) Network Support Mode

Which of the following are loaded in
safe mode?

(a) Keyboard driver
(b) Mouse driver

(¢) VGA driver

(d) All of above

1s a named location on a disk

where files a restored :
(a) Folder

(b) Pod

(c) Version

(d) None of the above

CSC-63T-1001/32

(6)

15.

16.

17.

18.

19.

foie #, Wi sed %1 3w fhafeau e
ST B—

(a) T Twihy™

(b) = % § faen

(c) fearsm |

(d) 3T T

el e 1 Wie o fog o9 fof e o aR
T BT STAM HAT2

(a) Option

(b) Help

(c) View

(d) ST H 9 HiE T

fies Y& FXd THT A 91 9IS R &
~AqH Y oS T B~

(a) 9% ArE

(b) et re

(c) VGA #re

(d) “=Fs Tur Hre

frefafa & & =4 e T ¥ @
T 22

(a) FIeNE gER
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20.

21.

22.

23.

24.

25.

Which command is used to see the
version of the operating system?

(a) Vol

(b) Version

(c) Ver

(d) None of the above

Which type of command requires
additional files to perform specific
operations?

(a) Internal commands

(b) External commands

(c) Valuable commands

(d) Primary commands

Which of the following is system software?
(a) Operating system

(b) Compiler

(c) Utilities

(d) All of the above

A user-interface that is easy to use is
considered to be :

(a) User-happy

(b) User-simple

(c) User-friendly

(d) None of the above

1s a flash memory storage
device that plugins in to a USB port :
(a) USB snap drive
(b) USB flash drive
(¢) USB memory maker drive
(d) None of above

The ______is the drive containing the
files to be copied :

(a) Source drive

(b) Destination drive

(c¢) USB drive

(d) None of the above
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(a) Source drive

(b) Destination drive
(¢) USB drive
(d) ST & | HE &l
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26.

27.

28.

29.

30.

The number of character contained in
primary name (DOS)?

(a) Upto 8 characters

(b) 3 characters

(c) Upto 10 characters

(d) None of the above

Which one of the following is not a
multi tasking operating system?

(a) DOS

(b) Windows

(c) Unix

(d) Linux

The most recent version of MAC OS is
based the
(a) Windows
(b) Linux

(c) Unix

(d) CMOS

operating system :

The
initially created in the early 1970s at
AT and T's Bell Labs :

(a) Linux

(b) DOS

(c) Unix

(d) GNU

operating system was

Which command is used to undelete a
bunch of files with the extension .doc
that you have just deleted?

(a) Undelete

(b) Undelete/all

(¢c) Undelete *.doc

(d) All of above
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(b) fae
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(a) Linux

(b) DOS

(¢) Unix

(d) GNU
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(a) Undelete
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31. If there are multiple recycle bin for a
hard disk :
(a) You can set the different size for
each recycles bin
(b) You can choose which recycle bin
to use to store your deleted files
(¢) You can make anyone of them
default recycle bin.
(d) None of the above
32. Identify false statement :
(a) You can find deleted files in
recycle bin
(b) You can restore any files in recycle
bin if you ever need
(¢) You can increase free space on the
disk by sending files in recycle bin
(d) You an right-click and choose
Empty Recycle Bin to clean it at
once
33. Ifthe displayed system time and date
are wrong, you can reset it using :
(a) Write
(b) Calendar
(c) Write file
(d) Control panel
34. You should save your computer from?
(a) Viruses
(b) Time bombs
(c) Worms
(d) All of the above
CSC-63T-1001/32
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(b) AT
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35.

36.

317.

38.

World Wide Web is being a standard
by :

(a) World wide corporation

(b) W3C

(¢) World Wide Consortium
(d) World Wide Web Standard

A co-processor :

(a) Is relatively easy to support in

software

(b) Causes all processor to function

equally
(c) Works with any application

(d) Is quite common in modern
computer
A Microsoft Windows is an :

(a) Operating system
(b) Graphics program
(c) Word Processing

(d) Database program

Which of the following is a program
group?

(a) Accessories

(b) Paint

(c) Word

(d) All of the above
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39.

40.

41.

42.

Which is not application software?
(a) Windows NT

(b) PageMaker

(¢) Win Word XP

(d) Photoshop

The

files into a smaller file :
(a) Win Zip

(b) Win Shrink

(c) Win Style

(d) None of the above

program compresses large

Which of the following is an example

of a real-time operating system?
(a) Lynx

(b) MS-DOS

(¢) Windows XP

(d) Process Control

Which of the following operating

system does not implement the

multitasking truly?
(a) Windows 98

(b) Windows NT

(c) Windows XP

(d) MS-DOS
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(a) Windows NT
(b) PageMaker
(¢) Win Word XP
(d) Photoshop
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= &1 3T 272

(a) e

(b) THTH-TH
(c) faem XP
(d) hgret S

frefafaa ¥ 9 % @ AR faey araa
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(a) foe= 98

(b) &g NT
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(d) THeE-TE
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43.

44.

45.

46.

Which of the following windows

version support 64 bit processor?
(a) Windows 98

(b) Windows 2000

(c) Windows XP

(d) Windows 95

Which of the following operating

system implement multitasking

truly?

(a) Windows 98

(b) Windows NT
(¢) Windows XP
(d) All of the above

What program runs first after a

computer is booted and loading GUI?
(a) Desktop Manager

(b) File Manager

(¢) Windows Explorer

(d) Authentication

Which of the following operating
system do you choose to implement a

client - server network?
(a) MS-DOS

(b) Windows

(¢) Windows 98

(d) Windows 2000
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(a) foersT 98
(b) fa==st 2000
(c) foes XP
(d) fo=r= 95
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(c) fae=t XP
(d) STt gt
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47.

48.

49.

50.

Which of the following Operating
system 1is better for implementing a

client :

(a) MS-DOS

(b) Windows 95
(¢) Windows 98
(d) Windows 2000

My Computer was introduce from :
(a) Windows 3.1

(b) Windows 3.11

(¢) Windows 95

(d) Windows 98

Which of the following Windows do

not have Start button :
(a) Windows Vista

(b) Windows 7

(¢) Windows 8

(d) None of the above

Which is the latest version of MS

Windows?

(a) Windows 2007
(b) Windows 8.1
(¢) Windows 2000
(d) Windows NT
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(a) Windows Vista

(b) Windows 7

(¢) Windows 8
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COMPUTER SCIENCE
Paper Code : CSC-63T-1001

Operating Systems

PART - B (s -#)

INSTRUCTION ( fd9r)

(@)

(i)

(iii)

(iv)

No supplementary answer-book will be given to any candidate. Hence the
candidate should write the answer precisely in the Main answer-book only.
fordt off wanell =1 T SW-gfaew T8l & SR sta: wWenfd o =fed fob 9 g
IR-GRH H & T T R I e

In Part - B there are 4 questions with internal choice, the candidates are required

to attempt all questions each question carries 10 marks.
-9 H F 4 T AR foshed Hiegd § wemedf o weft T 7 H E1 Tk TH 10 37
2l

Make sure that your question booklet has all the 50 questions in Part-A and 4
questions in Part-B. Defection Booklet can be changed within 10 minutes.
TYA-qReerT B |l q-31 § 50 U TE q0-9 § 4 99 B €, THR S wifery) qfeqol giten
1 10 e ¥ ageaman <1 et 2|

If there is any difference in English and Hindi version, the English version will be

considered authentic.

Afe 797 & o<l o TS TAROT H DhE TR & O AUST TIR0T bl & F& A S
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(b)

()

(b)

(©

(b)

(a)

(b)

(©

(b)

PART - B ( 91T - &)

What is the RR scheduling algorithm?

AR AR AFfelT TReH 1 872

Briefly explain FCFS.
THHUHTH H1 HL9 F Fard|
Or/37at
What problem we face in computer system without OS?

fal OS ot oy faen | g fhd Tqen &1 e 31 qedl €72
What are the different scheduling algorithms?

fafr= Sregfem Temfen = 82

What is a kernel?

Hie 1 22

What is the basic function of paging?

UFST <1 et e T B2
What is virtual memory?
T THR I 82
Or/3gat
Explain the main purpose of an operating system?
SRfET fawn &1 7= Igev aam|
What is demand paging?
fewie s == 272
What is fragmentation?
forge =/ 22
What is the difference between the Operating system and kernel?
AR foren 3R el & o= o1 i &2
What is a deadlock?
TiRIe I 82
Or/3rgdat
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(a) Whatisthe goal and functionality of memory management? 5
O} wele 1 e S w2

(b) Write down the basic concept of the file system. 5
Hgdl Toeed st g sgeron fawd|

4. What's the main purpose of an OS? What are the different types of OS? 10
0S &1 G 3¢9 1 82 0S & faf= yRr =1 €72
Or/3rgat
(a) What is a Scheduling Algorithm? Name different types of scheduling
algorithms. 5

Srefer Teiiten o1 €2 fafe= R % Iggfein Teiiied & M )

(b) What is the main objective of multiprogramming? 5

T 1§ 39T 1 B2
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